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[1 My opinion are not always identical with my parentss. .[1 [J [J [J
DOo000000 Oodod. Alleggs look similar, but no two
eggsareidentical, O 00000000, 000000000
[0 OO 0O Leonardo da Vincis teacher once said to him. .[J O O [
DOo0000 00O inferiorn.00, 00 a000,00.000
No inferior products should be allowed to pass. .00 0O 0O O 0O O O
I O 0. In the past,women were regarded as inferior to men. .1 [,
DJododododd.launchnO0O (U)o O (WOO)dO
The first artifical satellite was launched by the former Soviet Union, .
JO0o00oboooo0oddn,launchvt.O0.00@O) 0O
O@oO).ood oo.od@)do which shocked the United
States.. OO OO OOO.mechanismnO OO O.O0O,00.
O 0,00 The bones and muscles are parts of the mechanism of the
body.. U OO OOOOOOOO OO. The shell of my watch is
transparent and the mechanisms inside can be seen. .[J [ [ O O [
Jodo,000o0u0odod ud.matchnOO,00.00,
O0O.00,0000(@ 0).00 The prince and princess in the
fairytales. 1 OO0 O OO0 0OOmatchvt.OO...00,0..00, vi.
O 0O,0 00 are always perfectly matched(=were always a perfect
match). . 000000000 OO. The White Swan Hotel in
Guangzhou cant be matched for friendliness. .00 O O 0O O O O O
OO0 0000000000 . These shoes do not match.one is



large and the otherissmall. . O OO O0O,00 0,00 0.
negativea. 1 O .00 0,000.00,0 00 negative n.[J O .(
0 O000)00,00 Hewassuspicious of having taken dopes,but
hisurinetestwasnegative. . 1 OO0 OO0 O000O,00000
000000 OO. Two negative makes a positive. .00 [ [0 O .
obligation n.J 0,00 OO To pay taxes is an obligation of every citizen.
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